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6 JUNE 1963 060663 RUN NO. 909 THURSDAY
MOZAYENY MOSTAFA ROISE 008 040

 WELL INTERFERENCE PROBLEM

§COMPILE MAD, EXECUTE, DUMP, PRINT OBJECT
MAD, (12 MAR 1962 VERSION) PROGRAM LISTING... ... ...

ALPHA

WELL INTERFERENCE PROBLEM
INTEGER U,I

DIMENSION Z(100),XX(500),YY(500),ZZ(500)
READ DATA

PRINT COMMENT §1 §

PRINT RESULTS D, XMAX, Z(26)...Z(32),Q ,PI,K
PRINT COMMENT §o0§

X=o0

DELX =25.

U=o

C2=(((2*Q)/(PI*K) )*ELOG.(2000.) )—1600.
THROUGH BETA, FOR I=26,1,1 .G. 33
Cr=2*D*X—D*D

C3=((C2+Z(I)*Z(I) )*PI*K)/Q
C4=EXP.(C3)

WHENEVER—Cr1*C1 4-4*%C4*C4) .GE. o.
C5=(—C1+4SQRT . (C1*Cr +4*C4*Cy) )/2.
END OF CODITIONAL

WHENEVER C5—(X—D) .P. 2 .GE. o
Z2Z(U)=7(I)

XX(U)=X

Y=SQRT. (C5—(X—D) .P. 2)

YY(U)=Y

U=U+1

PRINT RESULTS C2,X,C1,C3,C4,C5,Y

3 33.44 PM
- 000

06/06/63

909

*o001
*002
*003
*004
*005
*006
*007
*008

*o10
*0o11
*012
*o13
*o14
*o15
*016
*o1y
*018
*019
*020
*021
*022
*023
*024

|0



BETA END OF CONDITIONAL
X=X+DELX

WHENEVER X .G. XMAX, TRANSFER TO GAMA

TRANSFER TO ALPHA
GAMA PRINT COMMENT §1

1 VALUES OF X AND Y §

PRINT COMMENT §o

I Z

VALUES OF Z FOR DIFFERENT

X
§

THROUGH DELTA , FOR I=o0 , 1 ,LEU
DELTA PRINT FORMAT BETA1LXX(I),YY(I),ZZ(1)]

VECTOR VALUES BETA1=§1Ho,F23.2,2F21.2%§

PRINT COMMENT §1VALUES OF Y FOR DIFFERENT Z PLOTTED AGAINST X

2§

EXECUTE SETPLT.(1,XX,YY,U§§,20,ABC)
VECTOR VALUES ABC=§ VALUES OF Y IN FEETS
PRINT COMMENT $VALUES OF X IN FEETS

END OF PROGRAM

$DATA

***PAGE AND/OR TIME ESTIMATE TOO HIGH
MAP

ERROR ooo000* SYSTEM oo0000* SPRINT

(MAIN) 10000 .RDATA 13653* .PRSLT
.IOH 15555 .03311 20053 % SQRT

PLOTI  20447* PLOT2  20447* PLOTg
(PROG) 23325 (SUBT) 75363 (ERAS)

(XTRA) 50367

FOR CHECK RUN.

00000*
14727%
20070*
20447*
73714

SCARDS
PCOMT
ELOG

FPLOT4

00000*
15421°%*
20147%*
20447*

SKIP6
PRINT
.01301
FPLOT4

06/06/63
00000* EXIT
15440% .ERR
20247% EXP
20447* SETPLT

*025
*026
*027
*028
*029
*029
*030
*030
*031
*0g2
*033
*034
*034

*036

%037
*038

999

00000*
15001%
20340%*
32424*

A



2.6000000F, 01

C2= 340.020706,
Ca= 2868.184998,
C2= 340.020%06,
C4=4344.809082,
C2=  340.020706,
C4= 6685.602556,
C2=  340.020706,
C4=1.045001E o4,
Co=  340.020706,
C4=:1.659200E o4,
C2=  340.020706,
C4=2.676006F o4,
C2=  340.020706,
Cq=4.384110E o4,
C2=  340.0207006,
C4=7.295955E o4,
C2= 340.020706,
Cq=4344.809082,
Ca2= 340.020706,
C4= 6685.602456,
C2:= 340.020706,
Cg:==1.045001E 04,
C2= 340.020706,
Cg=1.659200E o4,
C2= 340.020700,
C4=2.676006E o4,

Q=

2.70000E o1

D= 150.000
7.(26)...Z(32)

000

.668000,

X= .000000,
C5=12,28598%E o4,
X = .000000,
C5=2.330984E o4,
X = .000000,
C5=2.433663E o4,
X= .000000,
C5==2.660464F o4,
X= .000000,
C5=3.129637E 04,
- .000000,
Cp5:=4.027866F o4,
X—= .0D0000,
C5=5.651151E o4,
X = .000000,
C5==8.507180E o4,
=  25.000000,
C5=1.616%760E o4,
X == 25.000000,
C5=1.754725E o4,
{==  25.000000,
Cg5=22.036284E o4,
X=  25.000000,
C5=2.570836E o4,
= 25.000000,

Cr=3.529120E o4,

2.800000F o1

2.900000E oI

XMAX =300.000000

3.000000E o1 3.100000E 01 3.200000E o1

PI= 3.140000.
C1 = —2.250000E 04,
Y= 18.970127
C1==-—2.250000E o4,
Y= 28.457775
Cr =—2.250000F 04,
Y= 42.855872
C1 =—2.250000E 04,
Y= 64.067502
C1 = —-2.250000E 04,
Y 93.788g60
C1 =—2.250000E o4,
Y= 133.336643
C1t == —2.250000F 04,
Y= 184.422110
C1 =-—2.250000F o4,
Y= 250.143560
C1 =-—1.500000E o4,
Y= 23.293867
C1 =-—1.500000E 04,
Y 43-843497
Cr == -~1.500000E o4,
Y == 68.831960
i1 =-—1.500000E 04,
Y= 100.415940
C1=-1.500000E o4,
Y= 140.236219

K=1.667000E-o03

C3= 7.961435
C3= 8.376737
Cg= 8.807712
C3= 9.254358
C3= 9.716676
Z=30

Cg=10.194666

Cg=10.688327

Cg=11.197660

C3= 8.376737
Cg= 8.807712
C3= 9.254358
C3= 9.716676

C3=10.194666

4



C2= 340.020%06,
C4=4.384110E 04,

C2=  340.020706,

C4=7.295955E 04,
C2= 340.020706,
C4= 6685.602356,
C2=  340.020706,
C4=1.043001E 04,
C2=  340.020706,

C4=1.659200E o4,
C2= 340.020706,

C4=2.676006E o4,
C2=  340.020706,
C4=4.384110E o4,
C2= 340.020706,
C4=17.295955E o4,
Ca2= 340.020706,
C4= 6685.602356,
C2= 340.020706,
C4=1.04500IE o4,
Ca=" 840.020%706,
C4=1.659200E o4,
C2= 340.020706,
C4=2.676006E o4,
C2=  §40.020706,
C4=4.384110E 04,
C2=  340.0207%06,
C4=17.295055E 04,
Ca= 340.020706,
Cq= 6685.602350,

X=  25.000000,
Cr5=5.197800E o4,
X=  25.000000,
Cr5=8.084402F o4,
X= 50.000000,
Cp=1.141549F o4,
X=  50.000000,
C5=1.485248E o4,
oX=  50.000000,
C5=02.076049E o4,

X=  50.000000,
C5=3.077153E o4,
X=  50.000000,
C5=4.775559E 04,
X=  50.000000,
Cg=17.680586E o4,
X=  %5.000000,
C5= 6685.602295,
X=  75.000000,
Cr=1.045001E o4,
X= 75.000000,
C6=1.659200E o4,
X=  75.000000,
Cy=2.676006E o4,
X= 75.000000,

Cr=4.384110E 04,
X=  %75.000000,

C5=17.295955E 04,
X = 100.000000,

Cs= 3915.492676,

C1 =—1.500000E 04,
Y= 190.664619
C1 =-—1.500000E 04,
Y= 255.380154
C1=— %500.000000,
Y= 37.623034
C1=— 7500.000000,
Y= 69.659762
C1=— 7500.000000,
Y = 10%.732802
Cr1=— 7500.000000,
Y = 144.128320
Ci=- 7500.000000,
Y= 194.299654
C1=— 17500.000000,
Y= 258.468288
Cr= .000000,
Y= 32.566890
Ci= 000000,
Y= 69.462260
Ci= .000000,
Y= 104.723438
Ci= .000000,
Y= 145.379011
Ci= .000000,
Y= 195-489389
Ci= .000000,
Y= 259.48g010
Ci= 7500.000000,

Y == 37.623034

Cg=10.688327

Cg=11.197660

Cg= 8.807712
Cg= 9.254358

('3 =10.194666
Cg=10.688327

Cg=11.197660

Cg= 8.807712
C3= 9-254358
Cg= 9.716676

C3=10.194666

C3=10.688327

Cg=11.197660

Cg= 8.807712



_G2= 340.020706,

C4=1.045001E 04,
C2= g40.020706,
C4=1.659200E o4,
C2= . ,340.0207%06,
C4=2.676006E o4,
C2=  340.020706,
C4=4.384110E o4,
Ca2=  340.020706,
C4=7.295955E o4,
C2=  340.020706,
C4=4344.809082,
Ca2= 340.020%06,
C4= 6685.602356,
C2= 340.020%06,
C4=1.045001E o4,
C2= 340.020%06,
C4=1.659200E 84,
C2= 340.020706,
C4=2.676006E 04,
C2=  340.020706,
C4=4.384110E o4,
C2= 340.0207%06,
C4=7.295955E o4,
C2= 340.020706,
Cg= 2868.184998,

C2= 340.020706,

C4= 4344.809082,
C2= 340.020%06,
C4= 6685.602356,

X=_ 100.000000, -

C5=7352.482544,
X= 100.000000,
C5=1.326049F o4,
X= 100.000000,
C5=2.327153E o4,
X=100.000000,
C5=4.025119E 04,
X=100.000000,
C5=6.930586E o4,
X = 125.000000,
C5= 1167.604248,
X=125.000000,
C5= 2547.252319,
X= 125.000000,
C5=5362.838623,
X = 125.000000,
Cp5=1.070836F o4,
X = 125.000000,
C5=2.029120E c4,
X = 125.000000,
C5=3.697800E 04,
X= 125.000000,
C5=6.584402E o4,

X=150.000000,
Cs5= 359.865845,
X=  150.000000,
C5=809.845093,
X = 150.000000,

C5= 1836.625854,

69.659762
7500.000000,
103.732802
7500.000000,
144.123320
7500.000000,
194.296654
%7500.000000,
258.468288
1.500000E 04,
23.29386%
1.500000F o4,
43.843498
1.500000E o4,
68.831960
1.500000E 04,
100.415940
1.500000E 04,
140.236219
1.500000F o4,
190.664619
1.500000F o4,
255.380154
2.250000E o4,
18.970130
2.250000E 04,

28.457778
2.250000E 04,

42.855873

CG3= g9:254358

Cg= 9.716676

(C3=10.194666

C3=10.688327

Cg=11.19%660

CG3= 8.376737
Cg= 8.807712
C3= 9.254358
Cg= 9.716676

(C3=10.194666

Cg=10.688327

Cg=11.197660

C3= 7.961435
Cg= 8.376737
Cg= 8.807712

Y



C2=  340.020706,
C4=1.045001E o4,
C2=  340.020706,
C4=1.659200E 04,
C2=  340.0207%00,
C4=2.676006E o4,
C2= 840.020706,
C4=4.382110E o4,
C2= 340.0207%06,
C4=17.295955E o4,
C2= 340.020706,
C4q= 6685.602356,
C2=  340.020706,
C4=1.045001E o4,
C2= 340.020706,
C4=1.659200F o4,
C2=  340.020700,
C4=2.676006E o4,
C2== 340.020706,
C4=4.384110E o4,
C2= 340.020706,
C4=7.295955E o4,
C2= g40.020706,
C4=1.045001E o4,
Ca =1, 340.020706,
C4=1.6509200E o4,
C2=" 340.020706,
C4=2.676006E o4,
Ca2=  340.020706,
C4=4.384110E o4,

X = 150.000000,
C5= 4104.644775;
X = 150.000000,
Cs= 8796.369141,
X = 150.000000,

Cg5=1.777866E o4,
X= 150.000000,
C5=3.401151E o4,
X=  150.000000,
Cr=6.257180FE 04,
X =  175.000000,
Cs= 1422.462402,
X = 1%75.000000,
Cs5=3281.209473,
X = 175.000000,
Cs= 7367.262207%,
X=175.000000,
C5=1.567736E 04,
X = 175.000000,
C5=-3.133610F o4,
X= 175.000000,
C5=5.948554F o4,
X = 200.000000,
C5= 2715439941,
X = 200.000000,
Cs= 6287.110596,
X = 200.000000,
Cy=1.392512E o4,
X = 200.000000,

C5=2.893233E o4,

Ci1

Y=

G1

2.250000E 04,
64.067502
2.250000E o4,
93.788960
2.250000E 04,
133.336643
2.250000E 04,
184.422110
2.250000E 04,

250.143560
3.000000E 04,

28.239377
3.000000E 04,
51.538427
3.000000E: 04,
82.111279
3.000000E 04,
122.688076
3.000000E 04,
175.246037
3.000000E o4,
242.611914
3.750000E 04,
14.677873
3.750000E o4,
61.539505
3.750000E 04,
106.888330
3.750000E o4,
162.580229

Cs= 9.254358

Cg= 0.716676

C3=10.194666

Cg=10.688327

Cg=11.197660

Cg= 8.807712
C3= 9.254358
Cg= 9.716676

C3=10.194666
C3=10.688327
Cg=11.197660
C3= 9.254358
Cg= 9.716676
C3=10.194666

C3=10.688327

Yy



C2=  340.020706,
C4=7.295955E 04,
C2=  340.020706,
C4=2.676006E o4,
Cz
C4=4.384110E o4,

Il

340.020706,

C2=  340.020700,
C4=7.295955E o4,
C2=  340.0207%06,
C4=2.676006E o4,
C2= 340.020706,
C4=4.384110E o4,
Co=  340.020706,
C4=17.295955EF o4,
C2== 340.020706,
C4=4.384110E o4,
C2=  340.020706,
C4=17.295955E 04,
C2= 340.020706,
C4=17.295955E o4,

X = 200.000000,

Cr5=75.658033E o4,
X=225.000000,
C5=1.246213FE o4,
X = 225.000000,
C5=2.677770F o4,
X== 225.000000,
C5=75.385015E o4,
X = 250.000000,
C5=1.123551E 04,
X = 250.000000,
C5=2.484897E o4,

== 250.000000,
C5=r.128811F o4,
X = 275.000000,
Cs5=2.312290F o4,
X= 275.000000,
Cr5=4.888660E o4,

X = 300.000000,

C5=4.663755E o4,

Cr=

Ci=
Y =

3.7500008 04,

232.551773
4.500000E 04,
82.686951
4.500000E o4,
145-439695
4.500000EF 04,
219.602257
5.250000E 04,
35-149763
5.250000E 04,
121.856349
5.250000E 04,
203.194756
6.000000E 04,
86.590398
6.000000E 04,

182.377632
6.750000E 04,

155.962640

Cg=11.197660
C3=10.194666
Cg==10.688327
Cg=11.197660
C3=10.194666
C3=10.688327
Cg=11.197660
C3=10.688327
Cg=11.19%660

Cg=11.197660

Yy



.00

25.00
25.00
25.00
25.00
25.00
25.00
25.00
50.00
50.00
50.00
50.00
50.00
50.00

%75.00
75.00
75.00
75.00
75.00

75.00
100.00

100.00
100,00

VALUES OF Z FOR DIFFERENT VALUES OF X AND Y

Y

18.97
28.46
42.86
64.07
93-79
133-34
184.42
250.14
23.29
43.84
68.83
100.42
140.24
1g0.66
255.38
37.62
69.66
103.73
144.12
194.30
258.47
32.57
69.46
104.72
145.38
105.49
259-49
37.62
69.66

Aom.ﬂw

Z

26.00
2%7.00
28.00
209.00
30.00
31.00
32.00
33.00
2%7.00
28.00
29.00
30.00
31.00
32.00
33.00
28.00
29.28
30.00
31.00
32.00
33.00
28.00
29.00
30.00
31.00
32.00
33.00
28.00
29.00
30.00

X

100.00
100.00
100.00
125.00
125.00
125.00
125.00
125.00
125.00
125.00
150.00
150.00
150.00
150.00
150.00
150.00
150.00
150.00
175.00
1%75.00
175.00

1%75.00
1775.00

1775.00
200.00
200.00
200.00
200.00
200.00
225.00

144.12
194.30
258.47
23.29
43.84
68.83
100.42
140.24
190.66
255.38
18.97
28.46
42.86
64.07
93-79
133-34
184.42
250.14
28.24
51-54
82.11
122.69
175-25
242.61
14.68
61.54
106.89
162.58
232-55
82.69

31.00
32.00
33.00
27.00
28.00
29.00
30.00
31.00
32.00
33.00
26.00
24.00
28.00
29.00
30.00
31.00
32.00
33.00
28.00
29.00
30.00
31.00
32.00
33.00
29.00
30.00
31.00
32.00
33.00
31.00

Y¢



225.00
225.00
250.00
250.00

145.44
219.60

35.15
121.86

6 JUNE 1963 060663 RUN NO. gog

MOZAYENY MOSTAFA

§ 2. TOTAL

32.00
33.00
31.00
32.00

250.00
275.00
275.00
300.00

203.19
86.59
182.38

155.36

THURSDAY 3 33.44 PM 3 34.58 PM
WELL PLM

.3 COMPILE

008

ELAPSED TIMES IN MINUTES
.8 EXECUTE

040

000

SYSTEM MODEL13 MAY 1g63

33.00
32.00
33.00
33.00

\{
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